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Ajmal National Talent Search Examination, 2008
Class : IX

Time/a]Ì̂  : 2 hours /H³Oôç Full Marks/ ]ÇPö X¶�ö» : (25+25+25+25)=100

INSTRUCTIONS / ×XãVÛ̀ ç¾_Ý f
1. Attempt All Questions. / YÒãTöîEõäOôç YÒ̀ Â» =wø» Eõ»ç*
2. There are four options to each question. Choose the correct option by putting any one of a, b, c or d,

in the box / YÒ×TöäOôç YÒ̀ Â» $Jôç×»Oôç ×[ýEõ� =wø» ×VÌ̂ ç %çä$K÷* £�ù =wø»äOôç [ýç×$K÷ =×_Ì̂ ç+ EõçbTö UEõç [ýçEõ$JôTö a, b, c [ýç d ×_×F[ýç*

Subject : General Knowledge (×[ýbÌ̂  f açWýç»S pûçX)

1. The Country that shares its border with only one country is–
]çy AFX åV`» _GTö aÝ]ç UEõç åV` FX» Xç] ×Eõ ?
a) India/\öç»Tö b) Canada/EõçXçQöç c) Nepal/åXYç_ d) Japan/LçYçX

2. What is the term of a member of the Rajya Sabha–
»çLî a\öç» aVaî ALX» Eõç ï̂Eõç_ ×Eõ]çX [ý$K÷»----
a) 4 years/[ý$K÷» b) 5 years/[ý$K÷»
c) 6 years/[ý$K÷» d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

3. The world's oldest known city is–
YÊ×U¾Ý» %çOôç+TöêEõ YÇ»×S $Jôc÷»FX----
a) Kolkata/Eõ'_EõçTöç b) Alexandria/%çã_EõãL³VÐÝÌ̂ ç
c) Damuscus/Vç]ç�õç$K÷ d) Patna/YçOôXç

4. 'Last Judgement' was the first painting of an Italian Painter named–
"_çrô LçLã]³Oô' ALX +Oôç×_Ì̂  ×$JôyEõ»» YÒU] ×$Jôy %ç×$K÷_; ×$JôyEõ» LX åEõçX ?
a) M. F. Hussain/A] AZõ §ä$K÷+X b) Michelangelo/]ç+ãEõ_Aãtã_ç
c) Leonardo-da-Vinci/×_CXçãQïöç-Vç-×\ö×�û d) Sebastian/æ$Jô[ýç×rôÌ̂ çX

5. The original meaning of the ‘‘Quiz’’ is–
"EÇõ+L'» ]É_ %Uï c÷'_---
a) Query/%XÇaµùçX b) Question/YÒ̀ Â c) Tricks/åEõì̀ _ d) Media/]çWýî]

6. The yellow colour of urine is due to the presence of–
×Eõc÷» =Y×Ø�ö×TöTö åY$K÷ç[ý» »e c÷ç_WýÝÌ̂ ç c÷Ì̂ ----
a) Bile/×Ywø b) Urochrome/+=»'yÔ]
c) Lymph/GÐ×Ü�ö»a d) Cholestrol/å]V

7. The famous words ‘Veni, Vidi, Vici’ said by–
×[ýFîçTö ‘Veni, Vidi, Vici’ [ýçEõî`ç»Ý åEõçãX éEõ×$K÷_ ?
a) Julius Caesar/LÇ×_Ì̂ ç$Jô ×$K÷Lç» b) Nepoleon/åXãYç×_Ì̂ X
c) Romeo/å»ç×]C d) Alexander the great/]c÷ç[ýÝ» %çã_EõãL³Qöç»

8. What is 'Big Ben' ?/×[ýG å[ýX ×Eõ ?
a) Big sound/YÒ$Jô�ø ̀ � b) Big Bang/YÒ$Jô�ø ×[ýãØö�õç»S
c) A Clock/A×Oô HQÍöÝ d) A Cock/A×Oô EÇõEÇõ»ç
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9. The place where a boxing match takes place is–
[ý×je YÒ×Töã^ç×GTöç» Pöç+ åQöçF»Eõ ×Eõ å[ýçã_ ?
a) A stand/æºOô³Qö b) A stage/æºOôL c) A ring/×»e d) An arena/A×»Sç

10. What do the initials ISP in computer stand for–
Eõ×�=Oôç»Tö ISP ]çãX ×Eõ aÇ$JôçÌ̂  ?
a) International Social Protocol/+³Oôç»ãX �̀ãX_ $Jô'×$K÷ãÌ̂ _ YÒOô'Eõ_
b) Internet Static Port/+³Oôç»ãXOô æºOô×OôEõ åYçOôÛ
c) Internet Service Provider/+³Oôç»ãXOô $K÷ç×\öÛ$Jô æYÒç\öç+Qöç»
d) Internet Service Programe/+³Oôç»ãXOô $K÷ç×\öÛ$Jô æYÒçGÐç]

11. How many triangles are there in the given figure?
Tö_Tö ×VÌ̂ ç $K÷×[ýTö ×Eõ]çXOôç ×Åy\ÇöL %çä$K÷ ?

a) 20 b) 18 c) 22 d) 21

12. Which will complete the series?
Fç×_ Pöç+Tö £�ù =wø» ×_Fç----

?

a) b) c) d)

13. "Apatani" is a tribal community found in–
%çYçOôçXÝ LXLçTöÝÌ̂  åGç�öÝ Eõ'Tö UçãEõ ?
a) Nagaland/XçGçã_�øTöö b) Arunachal Pradesh/%»ÓSç$Jô_ YÒãV`Tö
c) Meghalaya/å]Hç_Ì̂ Tö d) Bhutan/\ÇöOôçXTö

14. "Ikebana" is a flower arrangement system of–
"+ãEõ[ýçXç' åEõçX åV`» ZÇõ_ aãLç¾ç Y�ù×Tö ?
a) Malyasia/]ç_ãÌ̂ ×$K÷Ì̂ ç b) China/$JôÝX c) Myanmar/]îçX]ç» d) Japan/LçYçX

15. IBM is a Multinational Corporation that deals with–
IBM A×Oô [ý§Lç×TöEõ [ýî¾açÌ̂  aeGPöX; + ×Eõ [ýî¾açÌ̂ » _GTö L×QÍöTö ?
a) Car/]Oô» Gç×QÍö b) Computer/Eõ×�=Oôç»
d) Insurance/[ýÝ]ç d) Banking/å[ýe×Eõe

16. Who was regarded as queen of ‘Goalparia Lok Geet’–
åGç¾ç_Y»ÝÌ̂ ç å_çEõGÝTö» »çSÝ [ýÇ×_ EõçEõ %×\ö×c÷Tö Eõ»ç c÷Ì̂  ?
a) Rahima Kalita Begum/»×c÷]ç Eõ×_Töç å[ýG] b) Gostha Gopal/åGçrô åGçYç_
c) Pratima Pandey/YÒ×Tö]ç Yçã�ø d) Pratibha Pandey/YÒ×Tö\öç Yçã�ø
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17. Machmohan Line is the border between–
å]Eõã]çc÷X _ç+X åEõçX VÇ+ åV`» aÝ]çã»Fç ?
a) India and Pakistan/\öç»Tö %ç»Ó Yç×EõØ�öçX b) India and Nepal/\öç»Tö %ç»Ó åXYç_
c) India and China /\öç»Tö %ç»Ó $JôÝX d) India and Bhutan/\öç»Tö %ç»Ó \ÇöOôçX

18. The birth place of Akbar the great was?
]c÷ç]×Tö %çEõ[ý»» LX½Ø�öçX %ç×$K÷_----
a) Pathankot/YçPöçXãEõçOô b) Amarkot/%]»ãEõçOô c) Jumankot/ Ç̂]XãEõçOô d) Dewankot/×V¾çXãEõçOô

19. 'Patkai Parbat' (Patkai Hill) is in the state of–
YçOôEõç+ Y[ýïTö åEõçX YÒãV`Tö----
a) Assam/%a]Tö b) Nagaland/XçGçã_�øTö c) Arunachal Pradesh/%»ÓSç$Jô_ YÒãV`Tö
d) Meghalaya/å]Hç_Ì̂ Tö

20. Which of the following is not a classical dance form?
Tö_» åEõçX×[ýWý ̀ çØ�öÝÌ̂  Xç$Jô Xc÷Ì̂ ----
a) Bharat Natyam/\öç»TöXçOôî] b) Kuchipudi/EÇõ×$K÷YÇQöÝ c) Manipuri/]×SYÇ»Ý
d) Bhangra/\öçe»ç

21. Sharad Pawar was recently elected as the BCCI President, he replaced–
`»V Yç¾ç» BCCI » a\öçY×Tö YVTö Eõç» Ø�ö_ç×\ö×bNþ éc÷×$K÷_ ?
a) Ranbir Sing Mahendra/»S[ýÝ» ×ae ]ãc÷³VÐ b) Jogmohan Dalmia/LGã]çc÷X Qöç_×]Ì̂ ç
c) I S Bindra/%ç+ A$K÷ ×[ý³VÐç d) Kiron More/×Eõ»S å]çã»

22. 2006 Nobel Peace Prize winner Mohammad Yunus shared his prize with the Bank that he created. The bank is named–
2006$ JôXTö ]c÷f +=×Xä$K÷ aÊ×rô Eõ»ç å[ýeEõ» _GTö X'ã[ý_ `ç×Ü�ö [ýOôç _ç\ö Eõ×»×$K÷_* å[ýeEõ» Xç] ×Eõ %ç×$K÷_ ?
a) Gram Bank/GÐç] å[ýeEõ b) Grameen Bank/GÐç]ÝS å[ýeEõ
c) Prabha Bank/YÒ\öç å[ýeEõ d) Bangla Bank/[ýçe_ç å[ýeEõ

23. Nothing is constant but _________. What is it?
AãEõçã¾+ Ø�öçÌ̂ Ý Xc÷Ì̂  ×EõÜ�Çö ................................. * A+äOôç ×Eõ ?
a) Change/Y×»[ýTöÛX b) The Sun/aÉ̂ ï c) Time/a]Ì̂ d) Life/LÝ¾X

24. How many feathers are used to make badminton shuttle?
[ýîçQËö×]³OôX ̀ �çOô_ËTö ×Eõ]çXOôç YçFÝ [ýî¾c÷ç» c÷Ì̂  ?
a) 10—12 b) 18—20 c) 14—16 d) 30—32

25. An EEG instrument measures the electrical activity of what?
EEG ̂ Ü�ö+ Eõç» é[ýVÇî×TöEõ a�ûç_X åLçãF ?
a) Kidneys/×EõQËöXÝ b) Brain/]GLÇ c) Lung/c÷çCgZõçCg d) Spine/å]»ÓV�ø
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English / +e»çLÝ

Choose the most appropriate one to fill up the gap in the given sentences :

26. One must be careful of _____________purse.
a) his b) one’s c) ones d) everyone

27. Desert plants need ___________ water.
a) a little b) a few c) litlle d) much

28. You were _____________ to have a rank at ANTSE’07
a) enough lucky b) lucky enough c) enough luck d)luckily enough

29. They sell ______________ dresses in that store.
a) ladies b) ladies’ c) ladies’s d) lady’s

30. This is a _____________ playground
a) girl’s b) girlss’s c) girls’ d) girl

31. Hindus worship the sun when _____________ rises.
a) it b) she c) he d) they

32. I shall try to come back before 4 o’clock. Here the word ‘BACK’ is __________
a) an adverb b) an adjective c) a preposition d) a verb

33. Today the __________ of the industrial workers are much better than the salaries of school-teachers.
a) salaries b) income c) wages d) pay

34. He declined the invitation on the __________ of ill health.
a) ground b) point c) reason d) cause

35. I am much older tha _____________
a) him b) he c) himself d) his

Give a synonym for the word underlined in the following sentences :

36. A sentry must be alert.
a) brave b) quick c) hostile d) watchful

37. Farming is his vocation.
a) Hobby b) ambition c) occupation d) entertainment.

38. Urmila always uses civil language.
a) pleasant b) forceful c) foreign d) informal

39. This was a persuasive argument.
a) clever b) interesting c) dull d) convincing

4
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40. She is an obstinate child.
a) well-dressed b) stubborn c) silly d) pretty.

Fill in the blanks with antonyms for the words underlined :

41. In the event of an attack, the country must be prepared for ___________.
a) defend b) prevent c) defence d)offence

42. When the guests arrived, the ___________ was still busy making preparations.
a) leader b) invite c) host d) devotee

43. This cloth is more durable but ___________ expensive that that.
a) very b) much c) less d) low

The following sentences are divided into three parts & each part is underlined and marked a, b, c, and d. only one
part contains an error. Identify the error part. If there is no error, mark it ‘d’.

44. Many a motorist prefer to travel by night
a b

as there is less traffic on the road No error
c d

45. politics are not the kind of activity in which students
a b

should take part No error
c d

46. you must remember me
a b

to post these letters No error
c d

47. Everybody can’t come in first
a b

can everybody ? No error
c d

48. My secretary usually opens
a b

The mail No error
c d

Choose the correct options from the following alternatives a, b, c, & d.

49. I am a player ______________ ?
a) isn’t it ? b) amn’t I ? c) aren’t I d) am I not ?

50. What __________ phonetics ?
a) are b) is c) was d) were

5



F:\ANTSE_IX_GK P6.5   # 7

Contd.

General Mathematics / açWýç»S G×STö

51. 24232221 5555 +++  is divisible by–

×Eõ aeFîçã»ö 24232221 5555 +++  ×[ý\öçLî c÷'[ý-----
a) 7 b) 11 c) 13
d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

52. The value of the expression ( )






+

++++
1

1
.............

4.3

1

3.2

1

2.1

1

nn  for any natural number n, is–

×^ãEõçãXç Ø�öç\öç×¾Eõ aeFîç n » [ýçã[ý, ( )






+

++++
1

1
.............

4.3

1

3.2

1

2.1

1

nn  »ç×`ãOôç» ]çX c÷'[ý----

a) Always greater than 1/ aVçÌ̂  1 TöêEõ QöçIø» b) Always less than 1 /aVçÌ̂  1 TöêEõ a»Ó
c) Always equal to 1 /aVçÌ̂  1 » a]çX d) Not definite/×X×VÛrô ]çX Xç+

53. Let A={x:x is a quadrilateral}, B={x:x is a rhombus},  C={x:x is a square} and D={x:x is a parallelogram}. The
relation between these sets is–
A={ x:x AOôç AOôç $JôTÇö\ÉöÛL}, B={ x:x AOôç »¶�öç$Jô},  C={x:x AOôç [ýGïãlùy} %ç»Ó D={x:x AOôç aç]Ü�ö×»Eõ} c÷'ã_ A+ aec÷×Töã[ýç»» ]çL»
a¶�öµùäOôç c÷'_------
a) ADBC ⊆⊆⊆ b) ADCB ⊆⊆⊆ c) ACBD ⊆⊆⊆
d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

54. If n(A)=P, then the number of proper subsets of A is–
n(A)=P c÷'ã_ A » YÒEÊõTö =Yaec÷×Tö» aeFîç c÷'_----
a) P2 b) 22 −P c) 12 −P

d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

55. 1001 pens and 910 pencils can be distributed among some students such that each gets the same number of pens and
same number of pencils. The maximum number of students is–
1001 Oôç Eõ_] %ç»Ó 910 Oôç åY×�û_ ×Eõ$KÇ÷]çX $K÷çy-$K÷çyÝ» ]çLTö \öGç+ ×Vã_ YÒãTöîãEõ a]çX aeFîEõ Eõ_] %ç»Ó a]çX aeFîEõ åY×�û_ YçÌ̂ * $K÷çy-
$K÷çyÝ» a[ýïç×WýEõ aeFîç c÷'_---
a) 91 b) 910 c) 1001 d) 1911

56. When a certain article is sold at a discount of 25%, the profit is 25%. If the discount is 20%, then the profit is–
AOôç ×X×VÛrô [ýØ�Çö 25% å»c÷ç+Tö ×[ýyÔÝ Eõ×»ã_ 25% _ç\ö c÷Ì̂ * ^×V å»c÷ç+ 20% c÷Ì̂  åTöãÜ�ö _ç\ö c÷'[ý-----

a) 25% b) %
3

1
33 c) 50% d) None of these

57. If 03
1

3
1

3
1

=++ cba , then–

^×V 03
1

3
1

3
1

=++ cba , åTöãÜ�ö----

a) 0333 =++ cba b) abccba 27=++ c) ( ) abccba 273 =++ d) abccba 27333 =++
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58. If ( )( ) ?  then  , 222 =++++=++ qypxyxbxaxqpxx

^×V ( )( ) ,2 ++=++ bxaxqpxx  åTöãÜ�ö ?22 =++ qypxyx

a) ( )( )byxax ++ b) ( )( )byxayx −− c) ( )( )bxayx ++ d) ( )( )byxayx ++

59. If 5
5

4 =−
x

x , then ?
125

64 3
3 =−

x
x

^×V 5
5

4 =−
x

x , åTöãÜ�ö ?
125

64 3
3 =−

x
x

a) 125 b) 140
c) 110 d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

60. If ( )2−x  is a common factor of 62 −+ axx  and bxx +− 92 , then the value of ba+16  is–

62 −+ axx  %ç»Ó bxx +− 92  » AOôç açWýç»S =dYçVEõ ( )2−x  c÷Ì̂  åTöãÜ�ö ba+16  » ]çX c÷'_----
a) 15 b) 20 c) 30 d) 35

61. ABCD is a quadrilateral. E, F, G, H are the mid-points of the sides CD  ,BC  ,AB  and DA respectively. If GH  ,FG  ,EF

and HE  are drawn, then the figure EFGH is a–

ABCD $JôTÇö\ÇöÛLTö CD  ,BC  ,AB   %ç»Ó  DA  » ]Wýî ×[ý³VÇ c÷'_ yÔã] E, F, G, H* GH  ,FG  ,EF  %ç»Ó HE å»FçF�ø Oôç×Xã_
EFGH c÷'[ý----
a) Square/[ýGïãlùy b) Rhombus/»¶�öç$K÷
c) Parallelogram/aç]Ü�ö×»Eõ d) Trapezium/æ®Ïô×Y×LÌ̂ ç]

62. The solution of the equation 3=
+
−+

+
−+

+
−

ba

cx

ac

bx

cb

ax
 is–

3=
+
−+

+
−+

+
−

ba

cx

ac

bx

cb

ax
 a]ÝEõ»S» a]çWýçX c÷'_----

a) 0 b) abc c) a + b + c d) 1

63. The incentre of a triangle is equidistant from the three–
AOôç ×Åy\ÇöL» %Ü�öfãEõ³VÐ Tö_» åEõçX ×Tö×XOôç» Y»ç a]VÉ»¾TöÞ
a) Sides/[ýç§ b) Vertices/`Ýbï×[ý³VÇ c) Sides and vertices/[ýç§ %ç»Ó ̀ Ýbï×[ý³VÇ
d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

64. The price of an article was increased by r%. Later the new price was decreased by r%. If the latest price was Re. 1,
then the original price was–
AOôç [ýØ�Çö» Vç] r%. [ýÊ×�ù Eõ»ç c÷'_ %ç»Ó Töç» ×Y$K÷Tö XTÇöX Vç]äOôç r% âÑ÷ça Eõ»ç c÷'_* ̂ ×V å`bTöÝÌ̂ ç Vç] 1 OôEõç c÷Ì̂  åTöãÜ�ö %ç$Jô_ Vç] %ç×$K÷_----

a) Re. 1 b) 





100

1
  Rs.

2-r
c)

100

1
  Rs.

2-r
d) 







− 210000

10000
  Rs.

r

65. The distance between the points (3,  4) and (3,  –2) is–
(3,  4) %ç»Ó (3,  –2)  ×[ý³VÇ VÇOôç» ]çL» VÉ»±¼ö-----
a) 4 units/AEõEõ b) 5 units/AEõEõ c) 6 units/AEõEõ d) 2 units/AEõEõ
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66. ABCD is a rhombus. AC and BD  are its diagonals. Which of the following statements is true?

ABCD »¶�öç$K÷» EõSï¥Ì̂  AC %ç»Ó BD  c÷'ã_ Tö_» åEõçXäOôç =×Nþ aTöî ?
a) 2222 BDACBCAB +=+ b) ( )2222 BDAC2BCAB +=+
c) 222222 BDACDACDBCAB +=+++ d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

67. Three numbers are in the ratio of 3:4:5 and their L.C.M. is 2400. Their H.C.F. is–
×Tö×XOôç aeFîç 3:4:5 %XÇYçTöTö %çä$K÷ %ç»Ó ×acg÷Tö» _.aç.m. 2400; ×acg÷Tö» G.aç.m c÷'[ý----
a) 40 b) 80 c) 120 d) 200

68. If 1

1
1

1
1

2 =

−
+

+

x
x

x , then the value of x is–

1

1
1

1
1

2 =

−
+

+

x
x

x  c÷'_ x » ]çX c÷'[ý----

a) 1 b)
2

1
c)

4

3
d)

3

2

69. The value of 
( )

( ) 09.069.03.2

027.03.2
2

3

++
−

 is–

( )
( ) 09.069.03.2

027.03.2
2

3

++
−

 » ]çX c÷'_---

a) 0 b) 1.6 c) 2 d) 3.4

70. Two fifth of one-fourth of three seventh of a number is 15. What is half of that number?
AOôç aeFîç» ×Tö×X a�çe`» AEõ $JôTÇöUïçe`» VÇ+ Y�û]çe` c÷'_ 15; åa+ aeFîçäOôç» %Wýïçe` c÷'_---
a) 94 b) 96 c) 350
d) None of these/AÌ̂ çã» AOôçC Xc÷Ì̂

71. What annual payment will discharge a debt of Rs. 1025 due in 2 years at the rate of 5% compound interest?
[ý$K÷×» 5% ×] Ò̀ aÇTöTö 2 [ý$K÷»Tö ×V[ý _GÝÌ̂ ç 1025 OôEõç» @S a�ÉSï \öçã[ý Y×»ã`çWý Eõ×»[ýê_ ×Eõ]çX OôEõç [ý$K÷×» Y×»ã`çWý Eõ×»[ý _ç×G[ý ?
a) Rs. 550 b) Rs. 551.25 c) Rs. 560 d) Rs. 560.75

72. The total population of three communities X, Y and Z in a town is 360000. In a pie-diagram the population of the
community Y is represented by a circular sector of angle 70º. The population of the community Y is–
AFX $Jôc÷»Tö ×Tö×XOôç a�ÒVçÌ̂  X, Y %ç»Ó Z » ]ÇPö LXaeFîç 360000; AOôç Yç+ ×$JôyTö Y a�ÒVçÌ̂ » LXaeFîç+ 70º åEõçS aÉ$Jôçã_, Y a�ÒVçÌ̂ »
LXaeFîç c÷'_-
a) 70,000 b) 36,000 c) 7000 d) 72,000
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73. Below 50 the cumulative frequency is 30 and below 45 the cumulative frequency is 25. The frequency of the class
45–50 is–
50 » Tö_Tö a�ûÌ̂ Ý [ýç»e[ýç»Töç c÷'_ 30 %ç»Ó 45 » Tö_Tö a�ûÌ̂ Ý [ýç»e[ýç»Töç c÷'_ 25 * 45–50 æ Ò̀SÝãOôç» [ýç»e[ýç»Töç c÷'_---
a) .8 b) 25 c) 30 d) 5

74. The base of an isosceles triangle is 24cm and its perimeter is 54cm. Area of the triangle is–
AOôç a]×¥[ýç§ ×Åy\ÇöL» \Éö×] c÷'_ 24 æ$K÷f×]f %ç»Ó +Ì̂ ç» Y×»aÝ]ç c÷'_ 54 æ$K÷f×]f* ×Åy\ÇöLãOôç» Eõç×_ c÷'[ý----
a) 54cm2/[ýGï æ$K÷f×]f b) 108cm2/[ýGï æ$K÷f×]f
c) 216cm2/[ýGï æ$K÷f×]f d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

75. A train 100m. long is running at the speed of 30km./hr. Find the time taken by it to pass a man standing near the
railway line.
100 ×]f éVHïî» AFX å»_GçQÍöÝãÌ̂  30 ×Eõf×]f/Hf å[ýãGã» G×Tö Eõ×» %çä$K÷* å»_ _ç+X» C$Jô»Tö ×UÌ̂ êc÷ UEõç ALX ]çXÇc÷Eõ %×TöyÔ] Eõ×»[ýê_ +Ì̂ ç»
×Eõ]çX a]Ì̂  _ç×G[ý ?
a) 6sec. b) 10sec. c) 12sec. d) 15sec.

General Science / açWýç»S ×[ýpûçX

76. When the speed of a particle is doubled, its kinetic energy.
[ýØ�Çö AOôç» G×Töã[ýG VÇmS Eõ×»ã_ +Ì̂ ç» G×Tö ̀ ×Nþ
a) remains same/AãEõ Uç×Eõ[ý b) gets doubled/VÇmS c÷'[ý
c) becomes half/%çWýç c÷'[ý d) becomes four times/$Jôç×»mS c÷'[ý

77. The least count of vernier callipers is
\öç×XïÌ̂ ç» åEõ×_Yç» ̂ Ü�ö» lÇùVÐTö] ]çY f
a) 0.1 cm/æ$K÷f×]f b) 0.001 cm/æ$K÷f×]f c) 0.01 mm/×]f×]f d) 0.1 mm/×]f×]f

78. The respective valencies of iron in FeCl
2
 and FeCl

3
 are

FeCl
2
 %ç»Ó FeCl

3 
Tö å_ç» å^çLîTöç yÔã]----

a) 1, 2 b) 2, 1 c) 2, 3 d) 3, 2

79. Which of the following is a balanced chemical equation ?
Tö_» åEõçXäOôç a]TÇö_ »çaçÌ̂ ×XEõ a]ÝEõ»S ?
a) 3MnO2AlAlOMn 3243 +→+ b) 4MnO3Al5AlOMn 3243 +→+

c) 9MnO4Al8AlO3Mn 3243 +→+ d) 4MnO3Al7AlO2Mn 3243 +→+

80. Who discovered the nucleus in the cell ?
åEõçãX åEõçb»ö ×X=×zõÌ̂ ç$K÷ %ç×[ý�õç» Eõ×»×$K÷_ ?
a) Robert Hooke/»[ýçOôÛ §Eõ b) Leewenhock/×_=ã¾X §Eõ
c) Robert Brown/»[ýçOôÛ [ýÐç=X d) Virchow/×\öã ï̀ç

81. Three chambered heart is present in
×Tö×XOôç åEõçPöç_Ý» c÷ÖV×Y�ø .................................. UçãEõ
a) Aves/YlùÝ b) Mammals/Ø�öXîYçÌ̂ Ý LÜ�Çö c) Reptiles/a»ÝaÊY d) Bony fish/Eõç+Oô UEõç ]ç$K÷

82. A force of 5N displaces a body of mass 10 kg through a distance of 1500 cm. The work done in joules is
5N [ýã_ 10 åEõ×L \ö»» [ýØ�Çö AOôç» CY»Tö ×yÔÌ̂ ç Eõ×» 1500 æ$K÷f×]f VÉ»ê_ é_ ^çÌ̂ * LÇ_ AEõEõTö Eõç ï̂î» Y×»]çS c÷'[ý---
a) 50 b) 75 c) 150 d) 7500
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83. Number of daughter cells formed at the end of meiosis are
×]%'×$K÷$K÷ (åEõçb ×[ý\öçLX)» å`bTö XTÇöXêEõ GPöX åc÷ç¾ç LÝ¾ãEõçb» aeFîç
a) 2 b) 4 c) 6 d) 8

84. The density of a metal is 22.59 gm/cm3. In S.I. unit its value is
AOôç WýçTÇö» HX±¼ö 22.59 gm/cm3. S.I. AEõEõTö +Ì̂ ç» ]çX
a) 2.25 × 102 kgm–3 b) 2.25 × 104 kgm–3 c) 2.25 × 106 kgm–3 d) 2.25 × 103 kgm–3

85. What is the relative humidity of a place when it is raining ?
[ý»bÇS» a]Ì̂ Tö AFX Pöç+» %çãY×lùEõ %çVÐTöç c÷'[ý---
a) 50% b) 80% c) 0% d) 100%

86. The cell wall of a plant cell is made of –
=×àöV» åEõçbã[ý» Tö_» åEõçXäOôçã» G×PöTö c÷Ì̂  ?
a) Cellulose and pectin/æ$K÷_Ç_L %ç»Ó åYEõ×OôX b) Protein and lipids/YÒ'×OôX %ç»Ó ×_×YQö
c) Sugar and pectin/`Eïõ»ç %ç»Ó åYEõ×OôX d) None of these/A+ã[ýç»» AÌ̂ çC Xc÷Ì̂

87. The colour of glass becomes red due to
Eõgç$Jô» [ý»S »Iøç åc÷ç¾ç» Eõç»S--
a) CuO b) Cu

2
O c) CaO d) SnO

88. Which of the following gaseous reaction will occur at high pressure ?
=¬Jô $JôçY» Zõ_Tö Tö_» åEõçX×[ýWý åG$K÷ÝÌ̂  ×[ý×yÔÌ̂ ç aeH×OôTö c÷Ì̂  ?
a) H

2
 + I

2
  2HI b) N

2
 + O

2
  2NO c) N

2
 + 3H

2
  2NH

3
d) None of these

89. The momentum of a body is numerically equal to its kinetic energy. What is the velocity of the body ?
AOôç [ýØ�Çö» \ö»ã[ýG +Ì̂ ç» G×Tö`×Nþ» a]çX* [ýØ�ÇöäOôç» å[ýG c÷'_

a) 2 units/AEõEõ b)
2

1
 units/AEõEõ c)

3

1
 units/AEõEõ d) 2  units/AEõEõ

90. Cell division of Amoeba is known as
AEõãEõçbÝ YÒçSÝ» åEõçb×[ý\öçLXEõ åEõç¾ç c÷Ì̂ ---
a) Fission/×¥F�øX b) Mitosis/]ç+Oô'×$K÷$K÷ c) Meiosis/×]%'×$K÷$K÷ d) Budding/Eõ'×_ åY_ç

91. The most electronegative element is
aã[ýïç¬Jô ×[ýVÇîd @Sç±ÁEõ å]ì_
a) O b) Na c) Cl d) F

92. If two particles are separated by a distance of X, then the gravitational force between them is proportional to
^×V VÇOôç YVçUï EõSç» ]çL» VÉ»±¼ö X c÷Ì̂  åTöãÜ�ö +cg÷Tö» ]çL» ]çWýîçEõbï×SEõ ̀ ×Nþ Tö_» åEõçXäOôç» a]çXÇYçTöÝ c÷'[ý ?

a) x b) x2 c) 2

1
x

d)
x

1

93. The mass of 22.4 litres of CO
2
 gas at N.T.P is

YÒç]ç×SEõ $JôçY %ç»Ó =bÕTöçTö 22.4 ×_Oôç» CO
2
 åG$K÷» \ö» c÷'[ý

a) 22 g b) 44g c) 11.2 g d) 22.4 g
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94. How many gram atoms of oxygen are present in 48 gram of oxygen ?
48 GÐç] %×jãLX åG$K÷Töö ×Eõ]çX GÐç] %×jãLX Y»]çSÇ Uç×Eõ[ý ?
a) 1 b) 2 c) 3 d) 4

95. A hot iron sphere is dropped into 1.5 kg of water. If the temperature of water rises by 400C, Find the heat lost by the
sphere. (S = 4.2 × 103 J/Kg/ºC)
1.5 kg YçXÝTö å_ç» AOôç G»] åGç_Eõ åY_ç+ ×VÌ̂ ç c÷'_* ^×V YçXÝ» =bÕTöç 400C é_ [ýç×RÍô ^çÌ̂  åTöãÜ�ö åGç_EõäOôç» ×Eõ]çX TöçY Eõ×][ý*
(S = 4.2 × 103 J/Kg/ºC)
a) 189 × 103 J b) 152 × 103 J c) 289 × 103 J d) 252 × 103 J

96. Which particle indicates a chain reaction in Uranium
åEõçXäOôç YVçUï EõSç+ +=ã»×XÌ̂ ç]» ̀ Ê�_ ×[ý×yÔÌ̂ ç aÉ$JôçÌ̂
a) Neutron/×X=®ÏôX b) Electron/+ã_Eõ®ÏôX c) Proton/YÒ'OôX d) ∝ - particle/∝ -EõSç

97. The inorganic substance that makes the xylem vessels rigid is
Lç+ã_] X_ÝEõçã[ýç» VÊRÍô Eõ»ç %êL[ý YVçUï c÷'_---
a) Cellulose/æ$K÷_Ç_L b) Lignin/×_G×XX c) Pectin/åYEõ×OôX d) Mucilage/×]=×Eõã_L

98. The gas responsible for the Green House Effect is
GÐÝS c÷ç=$K÷» [ýçã[ý VçÌ̂ Ý åG$K÷ c÷'_---
a) SO

2
b) CO c) CO

2
d) NO

2

99. The producer gas which can be used for fuel or for energy production, is a mixture of
YÒ×Qö=$$K÷ç» åG$K÷Eõ +µùX ×c÷$JôçãY [ýç ̀ ×Nþ =dYçVX Eõ×»[ýê_ [ýî¾c÷ç» Eõ×»[ý Yç×»* + Tö_» åEõçXã[ýç»» ×] Ò̀
a) CO and N

2
b) CO and H

2
c) CO and H

2
O d) CH

4
 and H

2

100. In which animal reproduction is performed by budding ?
åEõçX YÒçSÝ» YÒLXX ]ÇEÇõ_X Y�ù×Töã» %XÇ×�öTö c÷Ì̂  ?
a) Porifera/»µÐùYÒçSÝ b) Earthworms/åEgõ$JÇô c) Snails/ ç̀]ÇEõ d) None of these/AOôçC Xc÷Ì̂

* * * * *
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